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Topic:- English
1)
Question Stimulus :-

Fill in the blank with the correct option.

Netaji, the hero of Modern India, remembered.
* ought to be
* ought not to be
* might be
* shall have
Correct Answer :-ought to be
2)
Question Stimulus :-

Fill in the blank with the correct option.

Children taught to honor other people's opinions.
®* need to be
* needs be
®* needs to be
®* needs to have
Correct Answer :-need to be
3)
Question Stimulus :-

Fill in the blank with the correct option.

You laugh at the mistakes of others.

e cannot



* might not

* should not

e could not
Correct Answer :-should not
4)
Question Stimulus :-

Fill in the blank with the correct preposition.

There was no soap, so I just quickly rinsed my hands the tap.

* under

® over

* above

° by
Correct Answer :-under
5)
Question Stimulus :-

Fill in the blank with the correct preposition.

Archaeologists discovered a gold cup just
villa.

* beneath

® across

e beyond

o off
Correct Answer :-beneath
6)

Question Stimulus :-

Fill in the blank with the correct preposition.

the surface at the site of a Roman



Inflation has fallen 5% for the first time in six years.
* above
* below
* over
® across
Correct Answer :-below
7)
Question Stimulus :-

Fill in the blank with the correct preposition.

The vegetables were cut ___ the maid ____ a sharp knife.
e by, with
e from, with
e off, with
e by, from
Correct Answer :-by, with
8)
Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

* When we arrived at the station,
¢ the train
¢ have already left.
®* No error
Correct Answer :-have already left.
9)

Question Stimulus :-



DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e William felt ill last night,
e because he has eaten,
* a large number of cakes and pastries.
®* No error
Correct Answer :-because he has eaten,
10)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e If she had studied hard,
* she would have passed
¢ the English Language Test for the eligibility of Management Exams.
* No error
Correct Answer :-No error
11)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e I will call the instructor
® as soon as

e I will reach home.

® No error

Correct Answer :-I will reach home.



12)
Question Stimulus :-
DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.
®* You have been
e watching TV
® since the last five hours.
®* No error
Correct Answer :-since the last five hours.
13)
Question Stimulus :-
DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.
®* Rebecca is one of
¢ the most beautiful girls
* of her class.
* No error
Correct Answer :-No error
14)
Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e As soon as she
e got out of the bed
* the telephone stopped ringing.

* No error



Correct Answer :-No error

15)
Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e You won't lose any weight

® unless you start

e eating an healthier food.

®* No error
Correct Answer :-eating an healthier food.
16)

Question Stimulus :-

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

My book has been stolen.

e Someone steals my book.

® Someone stole my book.

e Someone had stolen my book.

e Someone has stolen my book.
Correct Answer :-Someone has stolen my book.
17)

Question Stimulus :-

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

English is spoken in England.
e People in England generally always speak English.

e People in England are speaking English.



* People in England speak English.

e People in England speaks English.
Correct Answer :-People in England speak English.
18)

Question Stimulus :-

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

The firewood is being cut by the woodcutters.

®* The woodcutters cut the firewood.

¢ The woodcutters are cutting the firewood.

* The woodcutters have cut the firewood.

e The woodcutters have been cutting the firewood.
Correct Answer :-The woodcutters are cutting the firewood.
19)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

Susan said to me, “you have been a very helpful person”.

e Susan told me that I have been a very helpful person.

® Susan told me that I was a very helpful person.

® Susan told me that I had been a very helpful person.

e Susan told me that I was being a very helpful person.
Correct Answer :-Susan told me that I had been a very helpful person.
20)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.



He said to me, "I do not trust you”.

®* He told me that he does not trust me.

®* He told me that he did not trust me.

®* He told me that he will not trust me.

®* He told me that he had not trusted me.
Correct Answer :-He told me that he did not trust me.
21)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

Patrick said, "I am going to finish this work now before I start a new work tomorrow”?

* Patrick said that he is going to finish this work now before he started a new work
tomorrow.

* Patrick said that he was going to finish that work now before he started a new
work the next day.

* Patrick said that he was going to finish that work then before he started a new
work the next day.

* Patrick said that he was going to finish that work then before he started a new
work tomorrow.

Correct Answer :-Patrick said that he was going to finish that work then before he
started a new work the next day.

22)
Question Stimulus :-

Choose the grammatically correct sentence.
e I saw an one-eyed man trying to cross the road yesterday.
e I saw a one-eyed man trying to cross the road yesterday.
e I saw the one-eyed man trying to cross the road yesterday.

e I saw one-eyed man trying to cross the road yesterday.



Correct Answer :-I saw a one-eyed man trying to cross the road yesterday.

23)
Question Stimulus :-
Fill in the blank with the correct option.

My neighbour was one of _____truly evil men I had ever encountered.
* few
* afew
® the few
* the little
Correct Answer :-the few
24)
Question Stimulus :-

Fill in the blank with the correct option.

Tourists and locals alike last night flocked to the pub to see if they could capture
of the magic.

* a little

°* few

* the few

* afew
Correct Answer :-a little
25)
Question Stimulus :-

Fill in the blank with the correct option.

There was a flood, but water actually got into the house.

* little

e a little



o few
e the little

Correct Answer :-little

26)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and answer the questions given
below it.

Long, long ago in a big forest, there were many trees, among the cluster of trees, there
was a very tall pine tree. He was so tall that he could talk to the stars in the sky. He
could easily gaze over the heads of the other trees. One day, late in the evening, the
pine tree saw a little girl approaching him.

He could see her only because of his height. She was in tears. The pine tree bent as low
as he could and asked the weeping girl. ‘What is the matter? Why are you crying?’ the
little girl, still sobbing replied, ‘I was gathering flowers for the goddess Durga, Who I
believe, would help my parents to overcome their poverty and I have lost my way’.
The pine tree said to the little girl, ‘It is late in the evening. It will not be possible for
you to return to your house, which is at the other end at the forest. Sleep for the night
at this place.’ The pine tree pointed out to an open cave-like place under him. The little
girl was frightened of wild animals.

The girl quickly crept into the cave-like place. The pine tree was happy and pleased
with himself. He stood like a soldier guarding the place. The girl woke up in the
morning and was amazed to see the pine tree standing like a guard outside the cave.
Then her gaze travelled to the heap of flowers that she had gathered the previous
night. The flowers lay withering on the ground. The pine tree understood what was
going on in the girl’s mind. He wrapped his branches around the nearby flower trees
and shook them gently. The little girl’s eyes brightened. But a great surprise awaited
her. The pine tree brought out a bag of gold coins which had been lying for years in the
hole in its trunk and gave it to the girl. With teary eyes she thanked her benefactor and
went away.

Why was the little girl crying?
* Because while gathering flowers for worship she lost her way in the dense forest.
e Because the flowers she had collected had decayed.
®* Because she was afraid of tall trees.
® All of the above

Correct Answer :-Because while gathering flowers for worship she lost her way in the
dense forest.



27)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and answer the questions given
below it.

Long, long ago in a big forest, there were many trees, among the cluster of trees, there
was a very tall pine tree. He was so tall that he could talk to the stars in the sky. He
could easily gaze over the heads of the other trees. One day, late in the evening, the
pine tree saw a little girl approaching him.

He could see her only because of his height. She was in tears. The pine tree bent as low
as he could and asked the weeping girl. ‘What is the matter? Why are you crying?’ the
little girl, still sobbing replied, ‘I was gathering flowers for the goddess Durga, Who I
believe, would help my parents to overcome their poverty and I have lost my way’.
The pine tree said to the little girl, ‘It is late in the evening. It will not be possible for
you to return to your house, which is at the other end at the forest. Sleep for the night
at this place.’ The pine tree pointed out to an open cave-like place under him. The little
girl was frightened of wild animals.

The girl quickly crept into the cave-like place. The pine tree was happy and pleased
with himself. He stood like a soldier guarding the place. The girl woke up in the
morning and was amazed to see the pine tree standing like a guard outside the cave.
Then her gaze travelled to the heap of flowers that she had gathered the previous
night. The flowers lay withering on the ground. The pine tree understood what was
going on in the girl’s mind. He wrapped his branches around the nearby flower trees
and shook them gently. The little girl’s eyes brightened. But a great surprise awaited
her. The pine tree brought out a bag of gold coins which had been lying for years in the
hole in its trunk and gave it to the girl. With teary eyes she thanked her benefactor and
went away.

Which word in the passage means ‘the state of being extremely poor’?
e Approach
* Poverty
* Overcome
* Benefactor
Correct Answer :-Poverty
28)

Question Stimulus :-

DIRECTIONS: Read the following passage carefully and answer the questions given
below it.



Long, long ago in a big forest, there were many trees, among the cluster of trees, there
was a very tall pine tree. He was so tall that he could talk to the stars in the sky. He
could easily gaze over the heads of the other trees. One day, late in the evening, the
pine tree saw a little girl approaching him.

He could see her only because of his height. She was in tears. The pine tree bent as low
as he could and asked the weeping girl. ‘What is the matter? Why are you crying?’ the
little girl, still sobbing replied, ‘I was gathering flowers for the goddess Durga, Who I
believe, would help my parents to overcome their poverty and I have lost my way’.
The pine tree said to the little girl, ‘It is late in the evening. It will not be possible for
you to return to your house, which is at the other end at the forest. Sleep for the night
at this place.’ The pine tree pointed out to an open cave-like place under him. The little
girl was frightened of wild animals.

The girl quickly crept into the cave-like place. The pine tree was happy and pleased
with himself. He stood like a soldier guarding the place. The girl woke up in the
morning and was amazed to see the pine tree standing like a guard outside the cave.
Then her gaze travelled to the heap of flowers that she had gathered the previous
night. The flowers lay withering on the ground. The pine tree understood what was
going on in the girl’s mind. He wrapped his branches around the nearby flower trees
and shook them gently. The little girl’s eyes brightened. But a great surprise awaited
her. The pine tree brought out a bag of gold coins which had been lying for years in the
hole in its trunk and gave it to the girl. With teary eyes she thanked her benefactor and
went away.

What is the meaning of the word ‘wither’?
®* Blush
* Bloom
® Dry
®* Move

Correct Answer :-Dry

29)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and answer the questions given
below it.

Long, long ago in a big forest, there were many trees, among the cluster of trees, there
was a very tall pine tree. He was so tall that he could talk to the stars in the sky. He
could easily gaze over the heads of the other trees. One day, late in the evening, the
pine tree saw a little girl approaching him.

He could see her only because of his height. She was in tears. The pine tree bent as low
as he could and asked the weeping girl. ‘What is the matter? Why are you crying?’ the



little girl, still sobbing replied, ‘I was gathering flowers for the goddess Durga, Who I
believe, would help my parents to overcome their poverty and I have lost my way’.
The pine tree said to the little girl, ‘It is late in the evening. It will not be possible for
you to return to your house, which is at the other end at the forest. Sleep for the night
at this place.’ The pine tree pointed out to an open cave-like place under him. The little
girl was frightened of wild animals.

The girl quickly crept into the cave-like place. The pine tree was happy and pleased
with himself. He stood like a soldier guarding the place. The girl woke up in the
morning and was amazed to see the pine tree standing like a guard outside the cave.
Then her gaze travelled to the heap of flowers that she had gathered the previous
night. The flowers lay withering on the ground. The pine tree understood what was
going on in the girl’s mind. He wrapped his branches around the nearby flower trees
and shook them gently. The little girl’s eyes brightened. But a great surprise awaited
her. The pine tree brought out a bag of gold coins which had been lying for years in the
hole in its trunk and gave it to the girl. With teary eyes she thanked her benefactor and
went away.

Why did the girl agree to take shelter in the night in an open cave-like place under the
tall pine tree?

e Because she found the beautiful pine tree highly fascinating.
e Because she was afraid of wild and ferocious animals.
* Because she was spell bound by the magical powers of the pine tree.

® None of the above

Correct Answer :-Because she was afraid of wild and ferocious animals.

30)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and answer the questions given
below it.

Long, long ago in a big forest, there were many trees, among the cluster of trees, there
was a very tall pine tree. He was so tall that he could talk to the stars in the sky. He
could easily gaze over the heads of the other trees. One day, late in the evening, the
pine tree saw a little girl approaching him.

He could see her only because of his height. She was in tears. The pine tree bent as low
as he could and asked the weeping girl. ‘What is the matter? Why are you crying?’ the
little girl, still sobbing replied, ‘I was gathering flowers for the goddess Durga, Who I
believe, would help my parents to overcome their poverty and I have lost my way’.
The pine tree said to the little girl, ‘It is late in the evening. It will not be possible for
you to return to your house, which is at the other end at the forest. Sleep for the night
at this place.’ The pine tree pointed out to an open cave-like place under him. The little
girl was frightened of wild animals.



The girl quickly crept into the cave-like place. The pine tree was happy and pleased
with himself. He stood like a soldier guarding the place. The girl woke up in the
morning and was amazed to see the pine tree standing like a guard outside the cave.
Then her gaze travelled to the heap of flowers that she had gathered the previous
night. The flowers lay withering on the ground. The pine tree understood what was
going on in the girl’s mind. He wrapped his branches around the nearby flower trees
and shook them gently. The little girl’s eyes brightened. But a great surprise awaited
her. The pine tree brought out a bag of gold coins which had been lying for years in the
hole in its trunk and gave it to the girl. With teary eyes she thanked her benefactor and
went away.

What is the meaning of the word 'sobbing'?
* to get extremely frightened.
®* To stare at something.
®* To cry noisily, taking in deep breaths.
* None of the above
Correct Answer :-To cry noisily, taking in deep breaths.

Topic:- Hindi
1)
Question Stimulus :-

frafafaa e $ wryde Tes 39F 9 ol T agfawad ual # Odt fawer &1 77 +¥)

URIHST # 999 TeR™ fadg # 39 od 4| fAfder fadg 3t ey 1 fafyen w8 F Iemea & sma-u
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TP AR IST T YU Hd, IS0 BT TaT Hd, AT B §8 <d, ANP-Hedvl & IU™ Hd SR g1 99 $©
T Wt 3 foreft Wi ot o 18 91d Q1 safee @i S99t fadg w9ie wed Al

faeg &t IeruT PEr A
o 3EYem



Correct Answer :-fafdar

2)
Question Stimulus :-

fFrafafaa T ®1 waFgde ggar 30 A fid T sgfaeed yal | w8 fieew o1 999 oY)

AT § 96 HeRT fagg d Isu $vd A1 fufer fade & Isur dh faf¥er 718 § wowga & sma-ute
DS TH g F-ATRAl Bt T <1 frfem & Rigrs R 989 W Y HER™ 99 $ BPRI T MNP U1l Fel
ST € fF WeR™ 99 I A1 9 399X S-S gdd A, AF WG WRATAT $ fFTaeia 9@ &1 gag 9 9n
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P W 1t 3 foeft Tiaive ot A forw =8t 81d 91 safere & S9! fade o=@ @eq Ui

~

IASTHEA & M-I b1 @ ) pfear @2
BHRI Bt

=iy @t

Trgait Bt
T8 A PIs T8
Correct Answer :-IJ=uRmal &1

3)
Question Stimulus :-

fFrafafad e $ wFyde tes 39F i il T agfawad uxAl § udt fawer &1 9 #¢)

ST | 9® HeR fageg d Ieg $ed A1 fufden fads & Iwurh & faf¥er 718 § Iowga & sma-urE
PIg U goIR A-ATRIAT B T &1 Frfer & RigRa R 381 W ft TR o9 &) GHR BT M ATl FaT
ST € fF HeR™ 99 It A1 9 39 dXE Ie-BT gdrd A, AH W WRATHT & g d9@ g1 gae 9 9w
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1 W W 3 foeft wiaive ot § for 18 81d 31 safe &t 39t fadg o9 @ed Al

HERTS S9® &1 T Wb UT?
o ydY B BT

® Y RMHA BT

o PRI &I



e WPH-HUI B
Correct Answer :-BaRI &1
4)

Question Stimulus :-

fFrafafaa e $ wrgde ted 3P i il T agfawad uxAl § Odt fawer &1 7 #¥)

RIS # e AeRIS fage d e oxd A1 fafen fagg @t wwrumh & fafyer 98 § Iewesa & smo-u™
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o JAq® FAT
o Ty S
* TSI ST
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Correct Answer :-3d% o1
5)

Question Stimulus :-

Frafafad T $t AFyde tes 3P i iU T agfawedt uxAl § O6t fawer &1 9 3¢

ST § e HeRT fagg d Ieu $vd 41 fufden fads o Isur & faf¥er 718 § Iowga & sma-ure
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}
g
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e WPH-HU & IUTT HIAT

o Iwdaa A
Correct Answer :-3udad 9t

6)
Question Stimulus :-

Frafafea sream # aFyde Tea 3@ A A T sgliead u=al o I8 fAeen &1 v $31

H®el 9 dR TR T8,
3TueTy @ vy W e
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B TR T HfST B I,
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* P P! FI> UBAN T8 &
Correct Answer :-3TUgit d@®: B9 o &

7)
Question Stimulus :-

il s @ AFYde TeHr 39 - A T ggflawad u=Al | 98t fieen 1 9g7 #)

Hoel 9 IR TR TE,
I 3@ fyu I =1

o e o s ®, Q1 T,
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B TR 3iuaT Hie 8 I,
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HHIRI P frg a1 BT g T8 BT ?
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s Hfeaar @
® 3id dP Jed T &

Rt o &



Correct Answer :-9Tf 93d 2 3{Ydl &feq 2

8)
Question Stimulus :-

Fafafaa 1o & aFYded TeHR I A 8 T gl uwl § 98 fAwen o1 994 $¢)

H®el ¥ 4R gaRTd g,
3Tuge 3@ fyu s =

o e o s #, R B,
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$3 U4 B T WPId Tal,
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HA-4Ha X fe@ma 3 Hal
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w9 qa1S, ot f =l 3,
gd fom, Ime fam, oft wifaa fam

B3 7Y $Y J@He FHARY ot Fa1 wfafear A 2 2
e Ififa B oa 7
* IFEE ¥
* ITW P F

Correct Answer ;-3 T304 &



9)
Question Stimulus :-

Frafafea sream $ aFyde Tes 3@ - 38 T sglaead uxa o I8 fwen &1 5+ H31

H®el 9 dR TR T8,
3TueTd 3@ vy o g
T ¢ R s H, QR T,
P b gd TSard g1
B TR 3raT BiE 8 I,
PHHART B 7 T aRAT

¥ Td @ 3 a9 & 9 T,
FfeaaR FARYT SR 7€ a1
P69 U4 HI 3T 1A e,
Hoel & ftg 3 T Fal

T SRIHT PO Tal 819 R,
HRA-HHT X fe@ma I Hal
TE RIUT BT PT TS B,
Fe1 o1 Auiferas A T faA1
w9 gars, et f sl 3,
ad fom, S™me fom, oft ifa fam

AuiferaT A v e =T et ur?
. T5 P
o faorg yTw A
* 3RIUT PRI FT IS 3
o oty
Correct Answer :-3HHd SRR} $T WG §

10)



Question Stimulus :-

il s o AFYde TeHr 39 - A T ggfawad u=Al | 9t fieen 1 9a7 #)

Hoel 9 IR gaRTd TE,
I 3@ fyu =1

o TC o s H, QR T,
M b I ydard 9|
B TR el HE 8 I,
FHHART B 7 Y aRAT

9 Id df 3 I 3 9 T4,
FieAaR e SWR 9¢ T
FiST Uy B ¢W BT e,
Hoel & o 9 Td el

§ SRIHT PO Tal S I,
Wa-dHg o fe@rd 9 e
UE 3RIHT BIERI BT T ¢,
FeT o1 Auifera A T f&1
w9 a1, et f kg,
of 3=, 3Ime e, ot =ifd e

foreht freds famm =k @2
o ¥ & fomm
* IE & fomm
o ifda & fomm
o Iuie gt & o
Correct Answer :-3WRis 9t & fomr

11)

Question Stimulus :-



o 2eg A Ut &1 g s T 3-
* JUBR
o AHIRD
o ugé
® JUATYH
Correct Answer :-3U&R

12)

Question Stimulus :-
"R & Jd HIH-91 U @l & 9T orf faudia g e
° 3
° 3
* 3T
e TRk
Correct Answer :-3

13)
Question Stimulus :-
o faRiyor §
o I H
o oW H
o T d
Correct Answer :-far &
14)

Question Stimulus :-

vafed” Ug 9ral s 8-

* TR



Correct Answer :-3fd®

15)

Question Stimulus :-
fraa wm & fore Sfaa gere’ &1 w9+ #ifome-
9 99 W17 9 ot 7% T o I oft B T, S B PEA B

T H O BIeT 3
o el # airer e
* e &R HH W
* TP UY G oI
Correct Answer :-&Tt # 3frer e

16)

Question Stimulus :-

“ggd uRym wr A & & fa garar a1 ok 1t B-
* BTY Uiq HRAT
o A UHHT TP PR 1
* TS ST
* FIcg P19 A
Correct Answer :-d ST

17)

Question Stimulus :-

HTEN 8 ST & R T gerew 2-
* &6 AR ST

o JgY WX gaATRAT ST



* HHE W aF T M
Correct Answer :-®16 dR Sl

18)
Question Stimulus :-
IR g F AT AT BT T Ffore-
o o ¢@T 9 &1 W&
o 1A g1 7 &1 9P
o ford oI 7 W7 W
o ford I 7 W1 wd

Correct Answer :-fo/’8 &1 9 T 9%

19)

Question Stimulus :-

fed T a1z & Y t@ W @1 yET Hie-
T 98 ¥ $A & Iuded | g arar I

o ERS Sl
° Iofd SUdl
wauf st
T 9§ PIS T

Correct Answer :-35d Sddl

20)
Question Stimulus :-
o dfeet & S-ar ge ? 2
“fog wa 6 fads 7 715, W Ut foT gav 9 ||
|d |fd Jg W a1, 98 W R g9 QY= gar 17

T



Correct Answer :-3urs

21)

Question Stimulus :-

o dfeat & ST 9 §-

“g FHae & 8, U9 AU feue|

faed swumET, fRafe sret w@= a1

* d

Correct Answer :-3Ra1

22)

Question Stimulus :-

I A 55t F Rw ux fRred 9w IwiER -
* JTUPT IMHTHRL
® 3TUHT WU
* 3TUPT HUTHIAHN
o Iujad
Correct Answer :-3udaa It

23)

Question Stimulus :-

e # @ g g &1 99 Fifoe-
o WY



* 3o
* TP
® o
Correct Answer :-3i[ur

24)

Question Stimulus :-
& & s ad= @1 T4 Bifme-
o IRM
* =¥
* SHMER
* 3IUd™
Correct Answer :-3ftq

25)

Question Stimulus :-

RISTHTYT &1 |at 3 8-
o bt Ieg ot =i FrgyUTST
* FAQIYRYT B HIGUTHT
o IF 3R Aifefd® vt
* WPRI Frafedl § Ugad g arit Wy
Correct Answer ;-TR&R! SrATadl § Ygad g arel YT

26)

Question Stimulus :-
T Fad! Pt B T B YT -

o femwarit
o FII Teit



* 3¢
o JIRE-BRET fifia
Correct Answer :-Ts! gidlt

27)

Question Stimulus :-
e & A ‘T &1 Tafgar 7€ 2-
* 3T
o faeu
* TTuTOl
* IUd
Correct Answer :-fadeu

28)
Question Stimulus :-
I5u’ e § @ fraer wafaard §-
* WA
o &
* D
* Uy
Correct Answer :-ugd
29)

Question Stimulus :-

TR’ BT TAH e B-



o T I PN A
Correct Answer :-Tgeg
30)
Question Stimulus :-
"GAUTET BT TFd TS 8-

o TR

° § X

. M

o @
Correct Answer :-grd=

31)
Question Stimulus :-
3gey’ § B A 49 2-

o oy Sy

o TR

&rd wfy
gfs |t

Correct Answer :-gul IfY

32)

Question Stimulus :-
‘e &1 Ay e 8-

o fUq:+amew

o g+ amem
foram+ sme=
g+ 3+ 3me=r



Correct Answer :-fUg+amesr

33)

Question Stimulus :-
e o1 wfy fosde @-

o RF+yn

o fT+uH

o fqm4ym

o fP+aruH
Correct Answer :-iR@+yHd

34)

Question Stimulus :-

e areai=n o Sfa ww o sgafeya Fifore-
(A) 919 GG Pt R rafs ¢
QECLIERICIC

(@) T A 7d

(@) & RS

e dEIX
e YIY
e YTV
e gI|T
Correct Answer :(-3dd@7d

35)

Question Stimulus :-

g areai &1 3fa w9 § afRua Hifer-
() IBR B T
(F) Ted ST 3



() Riféra af @t
(@) f&= ufafem
® AYTR
* ggId
* gYAY
* ¥WIT
Correct Answer :-939dv
36)
Question Stimulus :-
HTed H oTel URieT & GRT ar sruar e & GRT U= @t STt § g6l P AT SAPR T 62
e JTaY
o I W
o ITUEd W
o a1 SEiPR
Correct Answer :-s191 ¥fd

37)
Question Stimulus :-

e dfdRml & F9-91 PR 2-

“iffa & e s, T8 T diet @ifg |
g & e sird =81, 9™ diet arfg 17

Correct Answer :-dcI™

38)



Question Stimulus :-
o ¥ R a1y Bifee-
o 3 grdt UNTE
g3 g1t urTE |
* Ig URTA A &l
T EH I
Correct Answer :-dg UrTa g1t 8 T4

39)

Question Stimulus :-
7 ¥ 9 3 9w Bifew -
o # ydzri I
o fRmEl & ydr I
o 3MPI wfwmEl 3 udRHT qEf|
o fdmEl 7 A 3@
Correct Answer :-3faadl 3 U St

40)

Question Stimulus :-

g ufemal &1 "o Fifcre-

IYPR W K WeP B Wl W1 g1 98 3T gl ral 71 S/ e § fb 39 gy & o ot =181

RN &1 RIPR 8 w61 81 9 rafavardt @i s A +f uerr &t for aF & fiw 999 ved €1 ag gud &
IRAfA® AT B g g1 S TG Had T §, 99 $O 7 $O Thadl axd fAerdt g1 918 I8 I i A=
i a1 32 91, 39S 79 ¥ 0o fIxar 9 oa1 71 Tg1 ao & ot - Ht SHST eruel il Y A o 9 &
ST 8, S9fie 39 Id F 79 R # ff f@q avrar 81 A & T gHIS Y 3m=m 99q €1

* Y7 BT HEA
o Hwgd A8 Rramdr 3mug # aR 1@
e {9 fad ¥8d 9 tH GHH

o R AR TN T T, TO H TN T S A



Correct Answer :-R g 7 /R &1 99 &1, $© FH A O B B

41)

Question Stimulus :-
T8 I H-a1 fdwed arat i fawed I Ot avg @ § 2

* HHA
o A
* WM
.
Correct Answer :-5H

42)

Question Stimulus :-
a4 9 0 g o1 sFPTdf W 5-
o et
o Sy
e it
* T+
Correct Answer :-sffaram

43)

Question Stimulus :-
i & forg faret wreg k-
* 3T
* Yy
* Yy
o it
Correct Answer :-4g

44)



Question Stimulus :-
HYR’ P faaw 399 A 781 8-
* &g
* THY
o digur
* Hed
Correct Answer :-Hgd
45)

Question Stimulus :-

W19 fpeft UTT OT eg B T ARSI FHIAT AR 8, hg ST N B T a1 F ST g TG T15d &,
1| AR farm fare &1 T fomam e 8-

o HUFAI GaH
o fdw
° HIFP
® J&NUT
Correct Answer :-3Ig®

46)

Question Stimulus :-

RAARTHAY’ SIH-91 B¢ $1T 8?

o IWiad gt

Correct Answer :-A13%

47)

Question Stimulus :-



I YR A P T P gaifue g@TEe 79 0 82
* HHUTH
e IR
* JGNT IR
® BN
Correct Answer -3/

48)

Question Stimulus :-
A A U fhrg =T & 79 &1 fada= fear 22

o Hfafdrar
o WRye M
o HAFXSI
o fagm e
Correct Answer -3 firn

49)

Question Stimulus :-

3 3R fRT AP Ry & FTEAPR 3-
* I IWPHAR Al
* QAT ANR
o Fdwid Burdt fFrren
o FRSTPAR AT
Correct Answer :-gdaia furdt fFrren

50)

Question Stimulus :-

@y A TET & TWEOR 8-
e Hgredt auf



* GUTPHART I§T

* TQAAZ

* IHEH
Correct Answer :-gysI$aR! g
51)

Question Stimulus :-

P TR = TS gl BT JURY P fear T ur?
® 5 1947
® 5 1949
® 53 1955
® 573H 1970
Correct Answer :-5 5+ 1947

52)
Question Stimulus :-
7 ugelt & ford wet SR BT wG Pifore-
" foRE IRIS P IO, TRIT SH arelt ds@! & S| gl
* HeP
o Fdt
o g
o ud
Correct Answer :-7d

53)

Question Stimulus :-

e 12l & R 96 SR P17 9u PR -
“3 e B¢ TP §e TST, A1YT 4199 o @l
drai-dta T widh, orf sara ot omd gidt



pat
* HTERI
oYt
o TSTHT

Correct Answer :-UdTHT

54)
Question Stimulus :-

G+ 3+ Y+T+T+3+ 3+ T + 3 P YS qa-t HAYT gAI-
o JufR
o Fhufge

gfifgR
o g

Correct Answer :-gfafyR

55)

Question Stimulus :-
‘YR’ BT Y5 a1 fazawor gnm-
® M+ F+ M+ 3AM+ T+ 3
®* Y+ FB+FT+T+3A+T7+ 3
* YM+FB+FT+TM+3AM+ T+ 3
® [+ FB+F + W+ 3+ T+ 3
Correct Answer :-q[+ F+ F + T+ 3T+ I + 3

56)

Question Stimulus :-

e U & ee-gm & od-vig W | B 91 e 32
* HHSl-BHSl = Blel FHS-UD URIG dXPRI



o 3cAT-3fter = foel 3Rt HRAT-EeT
¢ IM-IW = FW-IdE

* ITA-ATATd = ddl ASI-3 H AT AT

Correct Answer :-3d¥-3WR = FHU-S A
57)
Question Stimulus :-
“W_mn g-rq-a)-l--\qﬁ- a{da-rn_
* IJEY-IR BT ATDIT &Y
¢ TR BT ARG FTU- FTET
* WEY-IR PT ARSI
* I P AP FU- WFHY
Correct Answer :-3JFU-R & AR ¥4
58)
Question Stimulus :-
e & A oy &1 FAF T TE 2-
o 3
o Y
o s
°
Correct Answer :-g4=n

59)

Question Stimulus :-
Fafafag oo o 3 Y@ifed e & gurdf e @1 T9E Fifoe-
“W-$d $A-$d AT g g1 fbaad $T1 3igd sia warl”

® U«

* Rd



e JUad
° Bd
Correct Answer :-3Uydd

60)

Question Stimulus :-
Hrepaa’ w1 THN faug ghm-

o Hienm & & HHA

o el HHA

o Hid T BT HHA

o HHA g A T B
Correct Answer - g &l &9d
61)

Question Stimulus :-

FYAfY’ Weg fFa THH FT ISR 372
* TYFY HHN
® Gg UHI
* FUYRM THATH
o JOdiHTE HHN
Correct Answer :-3cgdiHTd IH™

62)
Question Stimulus :-
e R & I Wgad a1 994 Pifoe-
* 9T 3lb 3§ 7 gl
o AN A A TP PIF B TR T8I g3l

® RSl §¢ B 4l



o T | BIg TH
Correct Answer :-9 @& 3% § 7 garl

63)

Question Stimulus :-
fa ¥ & o ar -
o AW H T T
® 3TY T ST
o el ¥ T G ST
o T A I TR
Correct Answer ;-39 I MU
64)

Question Stimulus :-

'Spill the beans’ T 3[dIS 8-
* IEH JANR B &G
o TURI PI X T A | AT
* IEW I WEW TG
o TH | BIg TE
Correct Answer :-3& SRR X T

65)

Question Stimulus :-
ISt o= A 3ree F1 SRR vafg 8-

® Out of stock
® Qut of order
® QOut of date

® Out of limit



Correct Answer :-Out of order

66)

Question Stimulus :-
BTGRP R A 9t &1 da’ Adifaa &1 w1 o 32

* g & foe gur = g
o sfed & RR W gEifte 9@ e

o fSepa MU wafad & ¥+ e

* 3RINY fdT P ST Ug e
Correct Answer :-3@g JAfq S 3T ug faen
67)

Question Stimulus :-

‘PR 3UT 8 UST WRTedl & Al o1 o1 3 g2
o 3Tl & U=YT HIAT

o I §91E §F avg P! IS A @

fo<t @t diem 78 &

* TERI Pl I Bl g WA
Correct Answer :-3[U-t 5913 g5 a%g & 3t Tl @
68)
Question Stimulus :-
"G UH BT GY BRI HBL,vrvreerssrersssaersnses I”
S wiwifet it quf Hifore-

TR $t YR T Y191 &

@Rt Y R TaraHt 3

79 & 79 § I UraT ?



Correct Answer :-dddR & YR T YTt 8

69)

Question Stimulus :-

fra & & o199t ofyedft R A a7 2-
* et
* TW
o FHlloll
o Fu
Correct Answer :-gufl

70)

Question Stimulus :-
“IAUURT” Teg BT YA FagyH fha fpar-

* WRd
o yawfer
o ITERER
* UTTE
Correct Answer :-Udwifa

Topic:- General Knowledge
1)

Question Stimulus :-

Which of the following is NOT included in the Union List? / g w ﬁ ﬁ'ﬁ ﬁ @' CIRUIE S qﬁ' %’?
® Railway Service / ¥od |ar
® Naval / T
® Atomic Energy / URHIY] St

® Travel / 9TAT



Correct Answer :-Travel / QAT
2)
Question Stimulus :-

Match the following and select the correct answer from the codes given below:

/ T &) fiang ok =R fouw e Fiel # I8 SR &1 9u By

List-I List-II
1. Sikkim a. Agartala
2. Rajasthan b. Imphal
3. Manipur c. Jaipur
4. Tripura d. Gangtok
gf-1 gfI-11
1, fafewu a. SARddl
2. IO b. SThTA
3. qﬁrg? C. SIYY
4, BrqRT d. e®

® ]-c, 2-d, 3-b, 4-a

® 1-d, 2-c, 3-a, 4-b

® 1-d, 2-c, 3-b, 4-a

® 1-d, 2-b, 3-c, 4-a
Correct Answer :-1-d, 2-c, 3-b, 4-a
3)

Question Stimulus :-

P

The size of the perimeter of the square ABCD is equal to 100 cm. The length of the segment
MN is equal to 5 cm and the triangle MNC is isosceles. The area of the pentagon ABNMD
can be calculated using / T ABCD & URHIT &T 5w 100 I+ 81 TS MN H1




TS 5 9 @ 8k MNC JHfg a1g AYS 81 YaYST ABNMD &1 &3%d BT YA HIb
fAreTar o1 a@ar @

® Area of ABNMD 100 - 2 x MC x NC / ABNMD &T &3%d= 100 - 2 x MC x NC

* Area of ABNMD = 252 + 14 x MC x NC / ABNMD &7 83%d= 252 + 142 x MC x NC

® Area of ABNMD 100 + 2 x MC x NC / ABNMD &T §3%d= 100 + V2 x MC x NC

® Area of ABNMD = 252 - 15 x MC x NC / ABNMD &1 &3%d= 252 - 72 x MC x NC

Correct Answer :-Area of ABNMD = 252 - 1> x MC x NC / ABNMD &1 &hwr: 252 - 15 x
MC x NC

4)
Question Stimulus :-

A small arrow or blinking symbol on computer screen desktop is called a / ST IT 9107 4T PRSI
TP IF W ISl g3 Ui HEATAT 8

® Mouse / HISH
® Tab/ 9

e Cursor / PR
® Tcon / WfeHT

Correct Answer :-Cursor / B

5)
Question Stimulus :-

If the compound interest of a sum at the rate of 10% per annum for the third year is Rs.800 then the compound
interest for the same amount for the fourth year is Rs ./ 'Clﬁ Th YRTIRT &7 W@ =TSl 10 ufa=ra
¥ W A TR 9 & o) 800 = 8, @Y St RN & o WY o & R wpgf sarer. =@

* 800

® 1680

®* 80

880

Correct Answer :-550



6)
Question Stimulus :-

The following set of coordinates represent relations between X and Y. The one set which

does not belong to this group is / PAdwiel & Ay de X 3R Y & &1 &1 ey
<uid € 98 & A o 39 WE @ wifa T 8

* {(2,4),3,9), 4 16), (5, 25)}

* {2,2),3,2),42),5,2);

* {2,2),2,4,3,6),3,9;

* {(2,7),(3,10), (4, 13), (5, 16)}
Correct Answer :-{(2,2), (2, 4), (3, 6), (3, 9)}
7)

Question Stimulus :-

The field in a database is . / TP STy # Bies %l
® Table of Information / AT P RO
® Data / L |
® Category of information / T 31 goft
® Record / fyors

Correct Answer :-Category of information / JdT Pt it

8)

Question Stimulus :-

The difference in the of the determines
an expression’s status as an or an : i /
Cal H 3R TP SUfHofRT BT 3Nger o Bl @ HFqH A HEUH

® power, variable, identity, equation / TR, d¢l, Ugdl-, LRG|
® Value, variable, binomial, equation / T, HI, ﬁmi.', JHIBT
® Value, power, identity, equation / d¢l, HTH, Ugdl-, gHiwr

® Value, variable, identity, equation / TR, HT, UgdI-, JHisr



Correct Answer :-Value, variable, identity, equation / T, HI, Ugdl, gt

9)

Question Stimulus :-

Where is Siddhivinayak Temple located / m 'Flﬁ? 3’?’[1 @H %

® Karnataka / Fﬁ?ﬁ?

® Maharashtra / HEIRTY
e Odisha / 3NST=M

® Andhra Pradesh / 3T U%QT

Correct Answer :-Maharashtra / HgIRTY

10)
Question Stimulus :-

The product of (2x3 - 5x2 - x + 7) and (3 - 2x + 4x2) is
+ 7) 3R (3 - 2x + 4x2) BT UG &

° 8X5 - 20X4 - 4x3 + 28x2

o 6x°—15x2- 3x+21

3 2

o - axt 1103+ 22— 14x +28 %3

4, .,.3

o 802t + 123 + 152 — 17x + 21

Correct Answer :-8x> — 24x% + 12x3 + 15x% - 17x + 21

11)

Question Stimulus :-

/ (2x3 - 5x2 - x

Common salt is a mineral composed primarily of ./ HTYRUI FH®H BT =Y il _ G Udh @frer %I

® Sodium bicarbonate / TfSTH E'Igﬂﬂﬂﬁ?
Sodium Chloride / AfSUH FARTSS

Sodium hydroxide / EIfSTH gﬁ:’ﬁ“@

Sodium oxide / TITSTH ATHATSS



Correct Answer :-Sodium Chloride / SIfSUH FARTSS

12)

Question Stimulus :-

Which of the following States celebrated the Red Panda Winter Festival in 2016? / frafafea 9 | fea Isa 4

2016 ¥ 9T UisT MBI Helead HATAT?
® Nagaland / ANTdS
® Meghalaya / b ha
® Assam / 3HH
e sikkim / fufeww
Correct Answer :-Assam / 3dH

13)

Question Stimulus :-

Vikram Sarabhai Space Center is located at | faspy m Gi_clﬁ&'l' aﬁ | '@-IT‘I' %

® Thirivananthapuram / ﬁlﬁ*ﬁfﬂ?ﬂ
® Mumbai / 'ﬂﬂ%
* Sriharikota / ftgR®ler

® Bangalore / m

Correct Answer :-Thirivananthapuram / foFa-agqza

14)
Question Stimulus :-

The table shows the scores of 20 students on a history test.

data. / ¥9E 20 B & SN & Wl & @R fa@mr g

History Test Scores
1w

]
Humbar of &
Sludents 4

z
n & & ‘ & &
& & -:‘,?\‘"' &
° Scoce

histogram is the exact representation of the

_ 3mgafyA STeT 3T 9dl uewH @



History Test Scores

n
1%
Number af 1
Studeals 8

e |

- &

*?1’#' {‘*-ﬂ‘*ﬂ'
° Score

Histary Test Scores

-

]
B
Numbar ol &
Shdests
T
! & & & ¥
PPl
Y Seore
History Test Scores
1]
2
Mumbér ol &
Studeats 4
2
. 88 &
FEELS
[ ] Score
History Test Scores
2‘,
16 ‘
Humber ol 12
Stuenls 4
4
: o e e d
ST
Correct Answer :- Seore

15)
Question Stimulus :-

Where is the Indian Wild Ass Sanctuary located in India? / HIRd s | gSuR AHIARTY HTEa'T R« %?

® Gujarat / J[SIRTd

® Rajasthan / ITSTRITA

® Jharkhand / SIRES

e Chhattisgarh / TX9TE
Correct Answer :-Gujarat / SIRTd

16)

Question Stimulus :-



Fill up the blank choosing the correct answer. / g IW gAD o —IF W

7360 (519+4820) =  ~==mmmmmmmmmcmemmemmeeee-
®  7360x519+7360x820
e 7360x519+820
* 7360+820+519
® 7360x519x820
Correct Answer :-7360x519+7360x820
17)

Question Stimulus :-

In which among the following state is the world famous “Mysore Dasara” celebrated? / fadafeassad

fay of¥rs AR S=IeRT WA i 32
® Kerala /W
® Maharashtra / 'q?'ﬂ'l'g
* Andhra Pradesh / 3% USRI
® Karanataka / a:——ﬁza?

Correct Answer :-Karanataka / B¢

18)

Question Stimulus :-

Where is “The Great Himalayan National Park” located? / 1ol %TI'I?ITI_"I' A gTH" ﬁkf @ %?

® Madhya Pradesh / u%,m
® Jammu & Kashmir / STH] 3R Hfik

° Maharashtra/'FI?RTg
® Himachal Pradesh/%ﬁﬁﬁm

Correct Answer :-Himachal Pradesh / T@0TIel Wa=T

19)

Question Stimulus :-



In which American city is the White House located / AP & GaC 3 | RIS o a'l_g? '3y R« %
e Boston / ¥
® Chicago / fRrerm
® New York / 71]311*
® Washington D.C / ariiTred S1.3t

Correct Answer :-Washington D.C / aT=NTe 8.3

20)
Question Stimulus :-

DNA, the full form of which is , is a molecule that carries most of the
genetic instructions used in growth of all living organisms./ ?,’IQT-TE, qufw %, \‘rﬁw

3] g =it mgafRre @it Sifaa oiial & e ¥ sxauma Ad=r &1 998 Wil 984 F-ar gl
® Duonucleic acid / §3N-IfFAD A
® Deoxyribo nucleic acid / %Gmm W A+
* Detoxified Nucleic Acid / SSTRITBISS Yfda®d 37
® Dinucleic acid / :{[%ﬁ? ST
Correct Answer :-Deoxyribo nucleic acid / fS3ITRIRTSE! gfdasd 3

21)

Question Stimulus :-

Which Indian has scored the most Test centuries in a calendar year? / fAaferfaa # f5aw urRda
A TP Hase 9¥ H Haifue T IaP 8 22

® Sachin Tendulkar/ﬁﬁqam
® M.S. Dhoni / GH. TH. ¢+t

® V.V.S. Lakshman / dl. 9. T3, d&H0T
* Virat Kohli / faRTe ®igeit

Correct Answer :-Sachin Tendulkar / I aw

22)

Question Stimulus :-



Which player is allowed to touch the ball with his feet during a Hockey match? / Eﬁﬁ A F aTFT 3 ﬁv I ﬂT:."
&1 g1 @t srqufa fory et & & vt 82

® (Captain / 3727'[

® Goalkeeper / M FR

® (Centre-forward / Yo - BRds
* Defender / fEHEY

Correct Answer :-Goalkeeper / T PITR

23)

Question Stimulus :-

©

Which of the following matches the top/base view of the prism given above? / HUR f&d T fisH & RRaER/ MR
| 7y & 4 919 91 99 @ 82

o
@
-




Correct Answer :-

24)
Question Stimulus :-

Against which country did Germany win the 2014 FIFA World Cup? / {53 39 & favg snft A
2014 &1 BIwT f[AYHY Sitar U1?

® Spain / 9
® Argentina / 3SieHT
® Netherlands / ﬁaﬁs
 Italy /Scell
Correct Answer :-Argentina / 3¢

25)
Question Stimulus :-

What is a TKO in boxing? / HaFbaTell § TKO FT 82
® Technical Knockout / ST ATHITIC
® Time Kick Out / €T3H & 3M3e

 Technical Knowledge / eai®d Aifers

® Teeth Knockout / 1Y FTH3TIC
Correct Answer :-Technical Knockout / CaIhd ATDHIATIC

26)

Question Stimulus :-



The ICC world cup 2019 will be hosted by . / s fay wu
2019 GRT maifora fosar smem|

® Jndia / HRd

® England & Wales / 31%3 a‘ﬁ? aﬁ?
® South Africa / a'f&I'UT 3BT

® Australia / a@ﬁr&n
Correct Answer :-England & Wales / $70S 3R a¢g

27)
Question Stimulus :-

If diagonal of a rhombus are in ratio 1:3, and its area is 6 cm2. The smaller_diagonal of
the rhombus is / afe gmagye & fA®vf 1:3 & oquE A €, 3R ITPT
aTwd 6 AW Tt §, A FHAgHS &1 Bler fAwl 3

* 4cm / 49w
® 6cm / 6 IH
* 2cm / 29
* 3cm / 3 9
Correct Answer :-2cm / 2 9HI

28)

Question Stimulus :-

In which of the following is there seasonal unemployment? /ﬁ"}f # 9§ fead A W %"
® Government Sector / ARPRI &F
® Private Sector / foreit ?;‘]3[
® Banks / d®
® Agriculture / ?ﬁ'
Correct Answer :-Agriculture / $TY

29)

Question Stimulus :-



A rabbit walks from one corner of a square shape plot to its opposite corner. If it walks
along the sides of the square, it takes 13 minutes to reach the opposite corner. Had it
walked along the diagonal it would have taken minutes for the

rabbit to reach the opposite corner. / T& @Y TR Wic & TP P A IHP GO B db derdl
2] afe a8 o &t yonsl & fFIR Taar 8, @ fAwdla o1 R ugeq & o 13 fiFe @vd 8 orR 98 Aol

FRERIATE, NS RN FARGEMAFRA_ e e 819
13,,
° 13\2
* 6.5
* 6\2
13
Correct Answer :- 2
30)

Question Stimulus :-

Repo Rate is determined by / UGl BT &3 g1 Ay foear sirar @
e SBI/UH.§.3ME
e SEBI/UH.3.91.3MM8
e RBI/ 3R.&.3ME
® Central Government / $% AXDHR

Correct Answer :-RBI / 3R.§}.3M§

31)
Question Stimulus :-

Which of the following controls the functioning of share market in India? / fFafafag # @ $19 URT & R IER
o1 o1l usfa 3 Frifa o 32

* FERA
® MRTP
* FEMA

® SEBI



Correct Answer :-SEsBi

32)
Question Stimulus :-

The instrument used in measuring the distance covered by vehicles / qre-l gRT a4 $1 11% §'ﬂ
CaR: T R: IUHRUT BT IUGNT fHar Srar @

e Speedometer / ITAHTY
e Odometer / TYHTH

e Hygrometer / SrearTdY
e Hydrometer / g3

Correct Answer :-Odometer / TYHTH

33)
Question Stimulus :-

Internal trade means / TP ATYR BT HdAT %
® TImport / 3TATd
® Export/ frata
® Trade within the country / a’sﬂ *» 3{3? AU
® None of these /E:Iﬁ q aﬁi q_tﬁ

Correct Answer :-Trade within the country /%QT & 3R ATUR

34)
Question Stimulus :-

When soap dissolves in water, “micelles” are formed .They are chemically, / STd HTd -t | qddr %, Gl

“firlda” ad 81 3 Imafe U9 9e §
® Sodium or Potassium stearate / Tifsaq a1 welRmw fReave
® (Calcium or Magnesium stearate / Ffqaw a1 SRy fewe
® (Collection of stearate ions / fRave ma=y &1 JU8
® Stearic acid / TaRke e



Correct Answer :-Collection of stearate ions / fReaRe ma+ &1 IUs

35)
Question Stimulus :-

Find the odd one out / fqw¥ arar JTd aﬂﬁnz
® Meira Kumar / #IRT PHR
® Rabri Devi / a3 ¢dt
® Anandiben Patel / \’rI'FI_cﬂa? 11%?{
® Jayalalithaa / Sgaferdr

Correct Answer :-Meira Kumar / TRT $AR

36)
Question Stimulus :-

Which of the following is an echo-ranging instrument? / g A 9 ufatafe w9 Cap k)| %?
® LASER
® SONAR
® MASER
® GPS

Correct Answer :-SONAR

37)
Question Stimulus :-

Which of the following characteristics of animals is for adaptation to tropical rainforests? /ﬁl’H A A IRl Bt AR

H faxivart Swisfed iy auf-a=f & srqeed & fiw 82
® Wide and large paws / ?a% GﬁT ?sr% ol
® Layer of fat under skin / T & T 9971 1 W=

® White fur / P g BT

® Long and large beak / gl i a?ﬁ CIC|



Correct Answer :-Long and large beak / et 3R 37.& a9

38)
Question Stimulus :-

Which one of the following people is not an architect / m feaal § 9 P AP qﬁ %
® Charles Correa / ITeH ®I¥AT
* BV Doshi/dt 4t gr2ht
® Raj Reval / XS ¥ardl
° IKGujral/\?rﬂga'?w
Correct Answer :-1 K Gujral / 31§ & ToRTd
39)

Question Stimulus :-

The metal which gives ruby stone its red colour / dg WFﬁWWﬁWW LU ]
FA §

® Nickel /ﬁaﬂ

® Chromium /ﬂﬁ'&l’q'q

® Aluminium /QFgfhﬁmr
® Germanium /\_rlﬁﬁ'qT[

Correct Answer :-Chromium / I{HIH

40)
Question Stimulus :-

Removal of clear layer of water without disturbing the settled impurities is known as / RRr GI'{'[@'@ Ca %ETQ ICEI
W B WS WRd Bl EEL Dedldl %I

® Sedimentation / S[dH{TgH
® Decantation /ﬁl'\‘?I'R'UT

® Filtration /ﬁ@ﬂq

® Sublimation /Eﬁqﬁl:[



Correct Answer :-Decantation / FFRAIRUT

41)
Question Stimulus :-

Coal miners use battery powered lamps rather than kerosene lamps & candles because / PIIA B WH | HTH B

el ST BRI A TUT AT P IO a3t arelt ¥ T ST B ¢, FifP

® Kerosene lamps & candles are renewable & inexhaustible / P A dUT AATw Aoy Td 3M&9

® Kerosene lamps & candles are renewable but exhaustible / FARET A TUT MHT
Tievig A ea=hia g1 &

® Kerosene lamps & candles have open flames & can ignite coal dust or gases / P A 9T I O
DI F qRIeT a1 T A 3T o el 3

® Kerosene lamps & candles are renewable but causes pollution. / BT A7 TYUT AHEw] TAdeoiy o %
Afs=1 ugwor &1 s ot g §1

Correct Answer :-Kerosene lamps & candles have open flames & can ignite coal dust or gases / ﬁﬁm a'Fq

TYT WA A Hraar & gR1er a1 9 o 0T o bt 3

42)
Question Stimulus :-

Which famous cartoonist is acclaimed for his work known as “The Common Man”? / 3"5"7{ '\a 'Qﬁ’l?s{ m

S B 1 o <t ST A9 F 1 A1 @ & fore =it 82
e R.K. Narayan /3[R & ARl
* R.K. Laxman /3R & @&HUI
® Ajit Ninan / 3fford A9
* Swaminathan Ankelasaria / SITHIFTYT Sfparafar

Correct Answer :-R.K. Laxman / 3R & T&HUT

43)
Question Stimulus :-

Who was the first Indian President of the International Court of Justice? / GFR'['@'U <Yrardrg & UYH YR
e P A?

® Benegal Rau /aﬁﬂﬁm



® Nagendra Singh / A= fis
® Raghunandan Swarup Pathak / W WY UIddh
® Dalveer Bhandari / m? Herdt
Correct Answer :-Nagendra Singh / I Rig
44)

Question Stimulus :-

Presence of sweat glands in the skin is a unique characteristic of /=l | @3 ‘/Tﬁ | G'Q@Iﬁf
P 30 fawar @

Mammals IR/
Reptiles / G1gY
Amphibians 34/

Aves/ tﬁ@

Correct Answer :-Mammals SHURI/

45)

Question Stimulus :-

Which city among the following is NOT a capital of Indian states? / frrafaf@a & 9 19 yRda I $t U
HEUEIE 1

® Chennai / a?:l'g
* Imphal / HTA
® Pune / QU
® Panaji / Ui
Correct Answer :-Pune / Ut

46)
Question Stimulus :-

Which tissue is the diaphragm made of / SHTHTH fha Has g g1 %

® Muscular /ﬁ?ﬂ'q



® Bone /BSI

e Cartilage / SURY

® Connective / Tareit
Correct Answer :-Muscular / U=
47)

Question Stimulus :-

The first Restriction enzyme to be isolated was /9YH ufaaeq UITsH o8 3rerT fopaT T U

® EcoRI/S®I 3R3ATS
e Hindil / &I

o Alul/ 3]

e Bam HI / 9 TI3TE

Correct Answer :-HindIl / <511

48)
Question Stimulus :-

Which city is called Garden city of India? / foFH QG B U BT TN BT WG BT ATdT 82

® Bangalore / AR

® Mumbai / 'ﬂﬁ%

® Chennai / 998

* Kochi / Sl
Correct Answer :-Bangalore / SR
49)

Question Stimulus :-

A contractor finished a work in 4 days working 6 hours daily. How many hours will he need to work to complete the

sameworkinthreedays?/WW%WG%WWWHW&@4ﬁﬁWWIWM
Fi 3 fel # @1 e & foe A ufafes fvam 6 19 #v & smazawar giil?

® 10



* 8

* None / P15 it &Y
Correct Answer :-8
50)

Question Stimulus :-

The average score of a group of students is 75. The brightest 28% of them secured an
average score of 85 and the dullest 27% of them secured 38.The average score of

remaining is? / Bl $ TP TYE BT 30 TR 75 81 370 A 28% TG af BE1 A 85 BT 30d TR
AT 3R ITH A 27% I FUGAR BT A 38 HT 3N B R AT AT BT 3iId TR T 82

® 91

° 88

° 93

® 85
Correct Answer :-91
51)

Question Stimulus :-

Which among the following States was the first to have a Woman Chief Minister? /ﬁﬂ;’[ ? QP Ugdll oY

o1 fored wfgar g 4

* Bihar /S8R

® Tamil Nadu / 8@ TG

® Delhi / faeeht

e Uttar Pradesh / X USRI
Correct Answer :-Uttar Pradesh / 3% WeXT
52)

Question Stimulus :-

The ratio between the presentagesof Aand Bis6: 7.IfBis two years old than A, what
will be the ratio of the ages of A and B after 4 years? / Id9H § A B #1 Mg & & BT



AU 6: 731 AT B, AT ARG H gt a¥f 98T 8, <l 4 T 91 A 3R B B 3R BT AJUTd T gRTT?

® None of the above / SURTE aﬁi qﬁ

Correct Answer :-8:9

53)

Question Stimulus :-

Who is the present Chief Minister of Goa? / Mar & qdAT qQ1 7=+ %'?
® Manohar Parikkar / 'FF-ﬁ?T LI PE sy
® Laxhmikanth Parsekar / aeHteT R
® Devendra Fadnavis / éﬁatﬁr—rﬁ'@r

® HDKumarswamy / U9 81 HRATHI

Correct Answer :-Laxhmikanth Parsekar / T&HIHBI Y| 03120y

54)
Question Stimulus :-

The Constitution of India recognizes / HIRd DI GICHIE] 3'@ LEEIBGL %

® religious and linguistic minorities / T uq ’J-I'I'q'l—é' AT D

® only linguistic minorities / Fad 'l-l'l'm—&; % QIR

® only religious minorities / Fad UTfife eRiers

® religious, linguistic and ethnic minorities / %ﬂﬁ&ﬁ, ‘-IT‘TI% Td ST S eT®
Correct Answer :-religious and linguistic minorities / uTfifer Ta YToTg SreRieTs

55)

Question Stimulus :-



5

Mahesh got married 6 years ago. His present age is “times his age at the time of his marriage. Mahesh’s sister was

10 years younger to him at the time of his marriage. The age of Mahesh’s sister is: / 6 dT¢T q?ﬁ 'FI%'QT 31 TS E%
5

q | ada § IS g A S THY W STST 3G B AT 21 D! A S THY W ALY P 987 394
10 ¢ DI N | 7w B 787 P AP B:

e 20 years / 20 94
e 28 years / 28 af
® 30 years / 30 af
® 40 years / 40 94

Correct Answer :-20 years / 20 9§

56)
Question Stimulus :-

In which of these places were two important battles fought by the Mughals? / frafafea A fPa RMA W H"'I?ﬁ

gRT 3l Hewqul I a! i
® Benaras / 99RYH
® Kalinga / Caiun|
® Panipat/ LUIEILG
® Patna/UcHl

Correct Answer :-Panipat / QT-IUd

57)
Question Stimulus :-
23" of 93 / 93 FT 2/37

* 59

* 68

° 71

* 62

Correct Answer :-62



58)
Question Stimulus :-

Two Fifth of 500 how much more than one fourth of 200? / 500 wra‘rq‘i'?m‘f, 200 & T iﬁQITé
¥ faramT oifde 82

® 100

® 75

® 150

® 50
Correct Answer :-150
59)

Question Stimulus :-

Who among the following built the statue of Gomateshwara at Sravanabelagola / HquEErar § MHER 3t Hﬁf

e & 3 e a8 O
® Chamundaraya / ilTﬂ?.T&
® Jayachamarajendra Wadiyar / TOIHRTISIS aIfSUR
® Tipu Sultan / ﬁqwo
® Krishnadevaraya / W

Correct Answer :-Chamundaraya / aTHerd

60)

Question Stimulus :-
In a lottery priced at Rs. 5, only one lucky winner would receive Rs.1,00,000. At least how many such lottery
tickets should be sold, if the sponsor wants to earn a profit of 20% on sales from the lottery? / 5 UG g arent
TS dlest §, ad TP HITGRITell faeiar 1,00,000 FUT YT S| HH F HH T fvaq dicd] fedpe 2
W TR, afe uraieie diedt 3t fP W 20% &1 a1y 3ifsia &-r argdr 82

® 12,000

* 12,500

® 24, 000

e 25,000



Correct Answer :-24, 000

61)
Question Stimulus :-

Fill in the missing alphabets / W S3f&R yikg

ba_ab__baa_b__

® ab,ab

® b,a, b,a

® aaab

® b,b,b,a
Correct Answer :-a, b, a, b
62)

Question Stimulus :-

Which of the following was not a part of the Empire of Ashoka? / fadd oA T, 32MF & HTUTSH BT fewar
el U1?

® Kalinga / e

® SriLanka / AT

® Afghanistan / SHITRAT

® None of these /'&';Iﬁ: pY| aﬁ's‘ :Iﬁ

Correct Answer :-Sri Lanka / SieiaT

63)
Question Stimulus :-

6% of 300 is / 300 BT 6% &:
e 18
° 28
° 32

® 16



Correct Answer :-18

64)
Question Stimulus :-

The ratio of width of the Indian National flag to its length is ./ HIRd & Tl'gTq ?U@; &1 iﬁ'&'fl'sf BT ITDB!
GEIER: R R LD Bl

® 35
® 2:4
® 34
e 2:3
Correct Answer :-2:3

65)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / A9 IR ual # & #1991 2 33 T ud & THpeH JUH 8] 82

Tussey Mountain Outfitters, Inc.
226 N. Water Street
Bellefonte, PA 16823

(814) 355-5690

(i) Tussey Mountain Outfitters, Inc.
226 N. Water Street
Bellefonte, PA 16828

(814) 355-5690

(ii) Tussey Mountain Outfitters, Inc.
226 N. Water Street

Bellefonte, PA 16823



(814) 355-5690

(iii) Tussey Mountain Outfitters, Inc.
226 N. Water Street
Bellefonte, PA 16823

(814) 355-5690

(iv) Tussey Mountain Outfitters, Inc.
226 N. Water Street
Bellefonte, PA 16823

(814) 355-5690

® i

® jv
Correct Answer :-i
66)

Question Stimulus :-

Which is the second highest civilian award in India? / WRd # QI Tai ARG YRIPIR DIF-71 3?2
® Padmashree / Tt
® Padma Bhushan / USTHYUT

® Padma Vibhushan / qﬁ]ﬁ‘;[q'UT

® Bharat Ratna / HIRd ¥d

Correct Answer :-Padma Vibhushan / TRIfaYWOT

67)

Question Stimulus :-



Select the statement which is the logical equivalent to the given statement. / dg &Y+ qﬁ“&

o 9 @1 ke 9§ 38 T FY9 & GHH 8:

If I read 10 hrs per day, then I can pass the exam. / af¢ & 10 gve fa7 & ug, af # udten I<ivf &<
Tl g )

® If 1 don’t read 10 hrs per day, then | cannot pass the exam /Elﬁ # 10 U L'I'ﬁﬁ‘l q q?‘.':', o qﬁ&ﬂ Iitof :I'tapf
DY b dl

® [f | failed in the exam, then | haven’t read 10 hrs a day / afe | e o S-Iﬂ?ﬁ'uf Eﬁ' RIE2] 8 GIR:C| ufafeT 10 gue
T uer

® If | passed the exam, then | had read 10 hrs per day / ‘qﬁ a7 qﬁ&ﬂ 3ot Eﬁ, GIR:C| T-Iﬁﬁ*l 10 9O Tel %
® None of the above / SURIT aﬁé EE

Correct Answer :-If | failed in the exam, then | haven’t read 10 hrs a day / gfe # udem o \’rlﬂ?ﬂ'uf ?f 4T, a

#4 gfafeT 109w I ver 8

68)
Question Stimulus :-

The largest democratic country in the world by population is ./ SEET &t €Y I fag =+ 9 q931
Apaitd SU3__|

e USA/QUTAT

® China /9

® India / HIRd

® Japan / SITUTA
Correct Answer :-India / HIRd
69)

Question Stimulus :-

Select the statement, which is the logical equivalent to the given statement. / 9§ $Yq ﬂﬁ'&

Y 9 @1 efRe F 38 T FY9 & GHH B:

“If you don’t work hard, then you will not pass” / “gfg qq PfeT Agaa 7 ﬁ, a qH 3ol T8Y
L

® If you work hard, you will pass / afg dq i ﬁg;l?f ﬁ, o qq 3ot B STt
® |f you don’t work hard, you will pass /ﬂﬁ' qH CarL 'eIET-lT'T -1 37_{3[, Gl qq It 3-1 ST



® Work hard, or you will not pass / ﬁ?T-I_d ﬁ, qr qH It qﬁ 3-1'?[
® If you pass, then you have worked hard / “Clﬁ LU ] 33[ \_rITGﬁ, ar ﬂ'ﬂﬁ ﬁET-R'[ G| %
Correct Answer :-If you pass, then you have worked hard /Tlﬁ' LU It 33f \_rITGﬁ, ar EFI% ﬁm A %

70)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY same as the other three? / IBE]
IR Udl § A B T TP qTb1 A9 & Then JUH T8l 82

i.Paul Wolfowitz
No. 999, University Street
Montreul, PQ

CANADA H3C5H?7

ii. Paul Wolfowitz
No. 999, University Street
Montreal, PQ

CANADA H3C5H?7

iii. Paul Wolfowitz
No. 999, University Street
Montreal, PQ

CANADA H3C5H?7

iv. Paul Wolfowitz

No. 999, University Street
Montreal, PQ

CANADA H3C5H?7



Correct Answer :-i

71)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawey ﬂﬁ'a
it 38 T SYAY R eyl & I | |t @

Statements: / BY:
Some apples are bags. / $9 I I 21
All apples and bags are cars. / Tt A9 oY 91 PR 2|

Some cars are doctors. / & PN Siae 3

Conclusions: / fAa:
i.Some apples are doctors. / $© A9 Siae 8

ii.All doctors are bags. / 9! Sfde? g g1
e If only conclusion I follows / af¢ &aa e 1 e @
* If only conclusion II follows / afg Faa ey 11 R @
* If both conclusion I and II follows / af¢ st 1 3R 11 Y Fperd §

e If none of the conclusion I and II follows / af¢ fAspd 1 3R 1T A & aﬂi T8l Frpaar g

Correct Answer :-If none of the conclusion I and II follows / af¢ fFspd 1 IR IT & @ ﬁé T8I fArpaan
?

72)
Question Stimulus :-

Mahabhasya - an outstanding work in the field of grammar - is a composition by: / HGTHTH - HTHIUT &
a7 A U IPY P - TP WT § 37F gRI:

® Ashwins / GﬂﬂFr
® Ghosha / I¥



* Kakshivat / ®&ftad

e Patanjali / UdGiiel
Correct Answer :-Patanjali / TdeIfel
73)

Question Stimulus :-

A man traveled a distance of 61 km in 9 hr. He traveled partly on bicycle at 9 kmph, and on foot at a speed of 4 kmph.

The distance traveled on foot is:/@ﬁﬁGlﬁﬂﬁWQﬁ%ﬁﬁl I9 3HifR1e T 9 fepet ufereer &5t
T § ATsHd R B a4 fadt ufarder it afa & Iga ot | 9ga arsn w1 R A E @ feat g aa oz

e 16 km / 16 fopHt
e 25km/ 25 et
e 30km /30 fopet
* 45km /45 fopedt

Correct Answer :-16 km / 16 fHt

74)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawey ?[ﬁ'a
St 3l T SyAY ok el & I § 68 @

Statements: / ®YH:
Some clocks are lighters. / 99 Er%u‘ftvrrszv gl
Some lighters are clocks as well as cars. / $© @ge? Ufsal & td &R ot B

Conclusions: / fAwpd:
i. Some cars are clocks. / P9 TR °fedl g
ii. Some cars are lighters. / T &R @5 8l

e If only conclusion I follows / af¢ Faa fAswd 1 Rewear 3
e If only conclusion II follows / En% Fad ey 11 Freadar %
e If both conclusion I and II follows / af¢ et 1 3R 11 Y RPpea &



* If none of the conclusion I and II follows / af¢ fAwsd I ARMAEA aﬁ% 81 Apaar %
Correct Answer :-If both conclusion I and II follows / af¢ frept 1 3R 11 Y Fwad &

75)

Question Stimulus :-

A book seller buys 180 books at Rs.6 each and sells at Rs.8 each and 50 bags at Rs.78 each and sells at Rs.85.
Which item will give him more money through profit? / Yd Y&Idh faspar 180 H'\‘Hﬁ CaR' g Y T 6B
fraTa & Wilear 7 U1 U & T 8 § 99aT 3 T4 50 Al B IS Ja1 U 78 F e @ @l W
Y 85 H 99T g1 DI At o §RT ATH & U § 39 At 99 ure gz

* Books / J®

e Bags/qA

e Both /Gl

® None of these / $TH T Bl 8!

Correct Answer :-Books / T&®

76)
Question Stimulus :-

Who among the following is winner of IIFA Award 2016 for Best Actor / fada '\q?:‘Qg SRR & "%I'Q' IIFA
R 2016 T faoar S @

® Shahrukh Khan / RMgoW Wl

® Salman Khan / HGHTT 9T

® Ranveer Singh / AR g

® Amitabh Bachchan / 3fHATH S
Correct Answer :-Ranveer Singh / Y0TdIR i
77)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 38 faweu i[ﬁ'a
W 33 T HyEY SR fAewuf & IR F wE @:

Statements: / ®YH:

All chairs are ducks. / I ?ﬁh’fﬁﬁ@%l



Some chairs are elephants. / $9 Waﬁ’f %'I

All elephants are fruits. / I E!T?-ﬁ Hd %I

Conclusions: / fAwpd:
i.Some chairs are fruits. / $9 ?ﬁf’-ﬁtﬁr gl

il.Some elephants are ducks. / $9 BTQﬁ CSEC) %'I
* If only conclusion II follows / afg Faa ey 11 R @
® If only conclusion I follows /uﬁ Had ey 1 Aeadr %
* If both conclusion I and II follows / afg st 1 3R 11 =T Fwad &
* If none of the conclusion I and II follows / af¢ fAwsd 1 ARIMEA ﬁé 81 Apaar %

Correct Answer :-If both conclusion I and II follows / fe fAswd 1 3R 11 ST fAped &

78)
Question Stimulus :-

Find the next term in the series 12,6,11,6,10,6, / gt § AT Yq ATd a?rﬁnz
12,6,11,6,10,6,

Correct Answer :-9

79)
Question Stimulus :-

Who is the President of the World Bank? / fa=q 33'7 DT A& ﬁ_"f %?
i JimYongKim/ﬁrl'qlﬁ"T'h’_q
* BanKiMoon/TSI'Ha%TT

® Strauss Kahn /E'TW B



* Kaushik Basu / P T
Correct Answer :-Jim Yong Kim / 5/ @i fooq
80)

Question Stimulus :-

The country that shares longest border with India is ./ HRd & 1Y 999 wdt Far GIE CoE
qTel S 7 gl

® China / 94

 Bangladesh / FITATGRT

® Nepal / 3UTdd

® Pakistan / UTfp&aTH
Correct Answer :-Bangladesh / ST@TGRT
81)

Question Stimulus :-

Which committee was set up to explore alternatives to pellet guns in Kashmir? / HIHR § Ude TH & v

TarRA & Y f5a FAd &1 o fovan mar U2

® Srikrishna Committee / %WT C2 |

® TVSN Prasad Committee /mw UdTe HA

® Anil Goswami Committee / 3ff-TeT TATHI HHSY

® Nippendra Mishra Committee / o= firgr A&
Correct Answer :-TVSN Prasad Committee / STATTHE YIS SAST
82)

Question Stimulus :-

Madhya Pradesh earns a significant amount in foreign exchange from: / qwmwmﬁﬁ%ﬁtgmﬁ
TS Hgayui AR HHTAT B:

® Rose /el

e (Cotton / U

* Soya bean / GRIEH



* Groundnut / §ITwe

Correct Answer :-Soya bean / SHTEH

83)

Question Stimulus :-

Which of the following states is NOT on the border of Odisha? /ﬁl’H T S A1 I Gﬁ@'ﬂ"\’ﬂ &1 T T-Iﬁ %‘:
® Chbhattisgarh / fﬁﬂ'ﬂ"ﬁ

® Jharkand / IIREUS

® Bihar / ﬁ?ﬂ'

® West Bengal /‘Tféfq CUI
Correct Answer :-Bihar / f98R
84)

Question Stimulus :-

Mahatma Gandhi tried for many years, but what was finally created by Gangabehn Majumdar? / HeTHT e |

P qUI aD PR DI, A Sidd: TG AHGR RT FT T-T T[T AT?
® The word ‘Harijan’/ Rleg 'EﬁFF-I"
® Wooden sandals / E’S'R%
® Charkha /TRl
® Rimmed spectacles / fFaTY e ==ET
Correct Answer :-Charkha / 9@l
85)
Question Stimulus :-

Find the next term in the series. / 4%l o STl Uq JATd aﬁ'ﬁﬂ!l

6 5 4

L] .'?
11 14 17

oo | -l

L}

1621
[ ]



=1 M
oW

20 23
Correct Answer :-

86)
Question Stimulus :-
MNREGA stands for . / MNREGA & dTc0d & [

® Mahatma Gandhi National Rural Education Guarantee Act / HelHT T YA T Egaﬂ'l:l TR Qﬂf

® Mahatma Gandhi National Rural Employment Guarantee Act / HGIHT TR YT = W\Iﬁqﬁ? MRS

Tt

Mahatma Gandhi National Right Empowerment Guarantee Act / HGIH] e Ay TgC E’N’Iﬁ?ﬁf MR

® Mahatma Gandhi National Right Employment Guarantee Act / HETHT Tt AYS IS¢ TRATIHE MRS

Correct Answer :-Mahatma Gandhi National Rural Employment Guarantee Act / HelHI T YA TR

TG e MRET Uae

87)

Question Stimulus :-

Which monument has a diameter of 14.32 metres at the base and about 2.75 metres at the top? / {59 ¥IR® & YR

BT I 14.32 Wex § 3R =W &7 a7 2.75 Wew 32
® Lotus Temple /mﬁ'ﬁ?
® Sanchi Stupa / GIE] A
* Qutb Minar / $gd HHR
* Gol Gumbaz / T T



Correct Answer :-Qutb Minar / $gd HIFR

88)
Question Stimulus :-

In a certain language ‘dona hona khona’ means ‘send by post’ and ‘demk dona delf’ means ‘ beyond red post’ . Then in
that language the word ‘dona’ is used for: / foet W HTYT H ‘dona hona khona’ ®T AAAT % ‘send by post’ 3R
‘demk dona delf’ PT Hddd % ‘beyond red post’ | a3 ot # Yo ‘dona’ s'\q% ﬁl’E TANT 'Ea_cIT %:

® send

® beyond

® post

® red
Correct Answer :-post
89)
Question Stimulus :-

‘Global Tiger Day’ is observed on which day? / T9% a9 feaw fory o=t waran wiran @2
e July 27t / Ja1g 27
e July 29t / J@1g 29
e July 17t / Ja1g 17

e July 19t / J@1g 19
Correct Answer :-July 29th / ?[?I1'§ 29

90)
Question Stimulus :-

Akhil left home for the bus stop 20 minutes earlier than as usual. It takes 15 minutes to reach the stop. He reached the
stop at 09.45 am.What time does he usually leave home for the bus stop? / 31’@?[ 4 99w & o ‘EIT @31
= ¥ 20 e uge| "ewu?u'g’aﬁé?ﬁm 15 e @Ta €1 98 WU W UId: 09:45 W Ugd T4 fF9
Y 98 AHd: 99 I & Y R Sigdr 82

® 945 AM / WId: 9.45

® 9.50 AM / WId: 9.50



® 955 AM / WUId: 9.55

® None of the above / IR ?ﬁg q’eﬁ
Correct Answer :-9.50 AM / UTd: 9.50
91)

Question Stimulus :-

Prime minister of India who was born in Madhya Pradesh is / HIRd & gYUHAT ST S HY Ua'-‘é'l o BT UT

®* A B Vajpayee / I{Tﬂm\_rra'iﬂ

* 1K Gujral / T8 & oRTA

* HD Deva Gowda / Td I ¢4 TSI

® PV Narasimha Rao / W} 9t R8T W19
Correct Answer :-A B Vajpayee / U & qeoudt
92)

Question Stimulus :-

When Sarthak looked at his watch, it showed the time as 4:30. If the minutes hand points towards east,
then towards which direction will the hours hand point? / Sid rde 7 S ‘c'l@ i | aET, IR E R

feamar 4:301 A fiFe g1y qd 9 3R Tba war €, df f5a oz & o7 gver 31y "Whd Ham?

North / 3™

North-East / W-q:q:

South-East / &f&ror-gd

North-West / IWR-ufdH

Correct Answer :-North-East / SWR-Ud

93)
Question Stimulus :-

Which State government in India has recently launched ‘Smart Village’ program to improve public facilities in the

vi||ag§;ég?m$mmwﬁmé’rﬁwia‘fﬁmﬂw%gﬁmﬁﬁgm%ﬁqwﬁﬁ?ﬁr'Wdﬁq
[E :

® Madhya Pradesh /uwu%.sr



* Tamilnadu / AFEATg
® Karnataka /W

® Gujarat / T[oIRTd
Correct Answer :-Gujarat / J[eIRTd

94)
Question Stimulus :-

In the sequence shown below, which figure comes next? / e fewrd T $9 o SrTer Gﬂ?ﬁf P It ghft?

A ?
[\ |

HH 11 v

[

1

>/

[

Correct Answer :-

95)



Question Stimulus :-

In how many ways can 5 balls be selected out of 12 balls? / 12 A& & ¥ 5 Fal ) fobat YR | AT &1 AebelT 82
e 924
e 495
e 792
* None of these / STH A P13 o1

Correct Answer :-792
96)

Question Stimulus :-

A is the brother of B, who is the mother of C, who is the husband of D, and who is the
daughter-in-law of E. How is E related to A? / A, B &1 g 8, Sl C &1 HIaT €, St D &1 Ufd g, 3%
St E 1 98 21 E, A ¥ A Jafta g2

® Father / LG

® Mother / HIdT

® Brother / "-l'l%

® Brother-in-law / %a?
Correct Answer :-Brother-in-law / IR
97)

Question Stimulus :-

In the following question the first word has certain relationship with the second word. If
the third word has to have the similar relationship with the fourth word, the fourth word

will be: / 79 vy ¥, Ugd Weg BT gWR Aeg & WY At 7R A B Wy B A R g F71 A Aeg &b
1Y I UPR BT AGY AT T1RY, o AT g GRIT:

TRAIN : STATION : : AEROPLANE : ? / YeRTTSl : WA :: fau= @ 2
* AERODROME / faur3rgt
* HANGER /&R

e AIRPORT / fau = uw=

® None oftheselsqﬁﬁﬁﬂﬁ



Correct Answer :-AERODROME / fauT3rsT

98)
Question Stimulus :-

A + B means that A is B’s daughter. / A + B #THdad ¢ f& A, B ®1 31 21
A x B means that A is B’s son. / AXBWW%%A, BWQET%I

A - B means that A is B’s wife. / A - B &1 Hadad g f& A, B #1 Udl 81

If the relationship P and S is represented as P x Q - S, then, which of the following is

always TRUE? / Of¢ P 3R S & §I¥ &1 JaY P x Q — S & <=iar ar §, oY, A9 & | 19 91 g6=n 9 82
* SisQ’s wife. / S, Q &I Ual I
* SisP’s father. / S, P & fiar g1
e Pis Q’'s daughter. / P, Q &1 3d1 21
e Qis P's father. / Q, P & fuar €1

Correct Answer :-S is P’s father. / S, P & fa1 21

99)
Question Stimulus :-

How is my sister’s father’s father’s brother related to me? / T dg4d & fUar & e &1 Q-I'Ig' 1331% I afia
®?

® Uncle / 3{d

® Grandfather / Gl

® Granduncle / GTGI(PT 'J-I'Ié)

® None of the above / m?ﬁ aﬁé qﬁ
Correct Answer :-Granduncle / TSI(PT HTS)
100)

Question Stimulus :-

Which of the following is the mirror image of GLASS? / & # q HI9 T GLASS P gdur ufafars g2

Crvee



o CIVXX
o | CI'VSE
. ClLNe2d

Crvee

Correct Answer :-



